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MCQ include from following topics:
» Basic Electricity

e Ohm’s law -

e Kirchhoff's law

e DC series and parallel circuits

e Laws of resistance

e Bridge

o Effect of temperature

e Series and parallel combination circuit

1. Atom of any element is : Tt dca T 370] gar 21
(a) Positively charged / gATafId

(b) Uncharged/ Tt fds&t 3maer &t

(c) Negatively charged/z0T 31rafid

(d) Charged positive or negative EATAfRIA 37T 0T
mdferd
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3. Conduction of electricity through conductor
takes place by____. fast dTetep # fag[d &t ametepar
foad grTEldt 81

(a) Protons/¥ter

(b) Neutrons / <gi~=

(c) Bound electrons /&ifda (a133) sdiagi~a

(d) Free electrons /Hth Scidzi~a
Ans : (d)

4. Ohm is the unit of /311eH fdad! TH SHTS &:
(a) Current/aRT

(b) Resistance/ufaliy

(c) Voltage/dYeedr

(d) None of these / &8 4 ®Ig &

Ans : (b)

5. According to Ohm's law : 3i1gA & 7 & 31AR:

Ans : (b)
(a) The voltage is constant to current dleedl URT &
AN has the highest mobility.. _____ CABIGE] fere
sifipan Bt 2 (b) The voltage is proportional to current a@leedl ¥RT
(a) lons / 31a4 $3|1|I|Ei515%
(b) Electrons / SaaR (c) Voltage is inversely proportional to current
(c) Neutron / ggiH dee Tl URT & GPHIA ST &
(d) Proton/siYer (d) The voltage is proportional to resistance dieedr
Ans : (b) Slliiililaiiljllliiil g
Ans : (b)
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6. The curve representing Ohm's law is : 31gq a9
B! UGfid A aTell ash &

(3) Linear/ Ia®d

(b) Hyperbolic/31faRacfaem

(c) Parabolic/RRaciad

(d) Triangular/ F®ioita

Ans : (a)

7. According to Kirchoff's voltage law, the algebric
sum of all IR drops and e.m.f.s in any closed loop of

a network is always___. fzais & dicest Agra &

AR Acad & BIg i o< g # T TS3R-31 3R
() negative / FUTIcHP

(b) positive / HATHD

(c) determined by battery e.m.f.s 9edt & STHE®H gRT
fFufiRa

(d) zeroR[

Ans : (d)

8. The algebraic sum of all the currents meeting a
junctionisequalto _____

TP 5ia2M R e arel It die & disrrfordta abr
SRR EdT 8.

(@)1

(b) -1

(c) Zero R

(d) Can't say / &l &l 51T Gabdl
Ans : (¢)

9. Which law states that the relation between the
current, voltage and resistance in a closed circuit is
at a constant temperature ? &9 91 fAaH Haar e fb
TH ¢ dfdbe § e, aleest 3R Uiy & ofa ddu v
&R aroAE R AT 22

(A) Kirchhoff's current law fdai® &1 de fAaq

(B) Ohm's law 311&H &T fAaH

(C) Kirchhoff's voltage law fdaT® &1 dieesT fAaw
(D) Laws of resistnace faiy & fAad
Ans : (B)

10. Which law states that, in each closed circuit, the
sum of all voltage drops are equal to zero &9 4T
fiam Fedt & 5, W de afbe F, @it dieest @t a1
AP [T & SRISR BT &

(A) Ohm's law 311gH &7 fFa9

(B) Kirchhof's 1st law faagI% &1 Ugam fHaH

(C) Kirchhof's 2nd law fdZarEIt &1 gaRT A

(D) Coulomb's law Pt &I fHaH

Ans: (C)

1. In any electric network, the sum of the
incomming currents at each junction is equal to the

sum of the outgoing currents. What is the name of

the law ? fo&t Ht fae[d Acad #, T 5ideM R 31
dTett YRI3T T FPT d1ER ST diedt URI3T &b IPT & SRR
gld1 81 7w &1 AW = 82

(A) Ohm's law 311ed &1 fAgw

(B) Laws of resistance UfaRrer & fAad

(C) Kirchhoff's second law fehi=IEIth BT &R AW

(D) Kirchhoff's first law fd3erglts &1 uger fHad

Ans : (D)

12. Which law states that, the sum of the current
meeting at junction is equal to zero ? P IT f7a9
PEdl & b, SdRA W I BT AT - &b SRIeR 872

(A) Ohm's law 31eH &7 fFad

(B) Kirchhof's 1st law fdagI% &1 Ugel fHaH

(C) Kirchhof's 2nd laws fer@I &1 garT fAaw

(D) Coulomb's law PeTrl &I fHaH

Ans : (B)

13. When the current is passed through the
conductor, it gets heated That effect is called as ..
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519 dTcidh & A § YRT YaTfed &t 5idt &, df a8 TH
(A) Magnetic effect Fadbid THTG

(B) Thermal effect et THTT

(C) Chemical effect ITTAMA® THTT

(D) Electrostatic effect SeldgRefed THTT
Ans : (B)

14. Ohm's law is not applicable to_
34 &1 FIA__ R ar] A&l giar 2|

A. Semiconductors 3TEfITeld

B. D.C. circuits g1, afdse

C. Small resistors B¢ Ufaeid

D. High currents 3= Y¥RTC

Ans: (A)

15. Correct form of ohm's law. 31eH & f7IH &1 T&t
Y|

A.l=VR

B.V x|

C.V=IR

D. Above Band C

Ans : (D)

16. Which of the following is a Kirchhoff’s first law?
7 7 & P foates &1 yem w82

A. KCL ddted

B. KVL dbdteet

C. Current law & fAam

D.Both aand c gl a 3iR ¢

Ans: (A)

17 . Which of the formula defines KCL where i1, i2
are incoming currents and i3,i4 are outgoing

currents from a node in a circuit?

B T YA KCL B IRHTIS dear & 5TeT i1, i2 37 areft
YRTE € 3R i3,i4 T Afbe & TP A A I1eR 5TA dredt
HRTC &7

A. i1+i2=i3+i4

B. i1+i3=i2+i4

C.i1-i2=i3-i4

D. i4-i1=i2+i3

Ans : (A)

18. What is the value voltage across resistor r1,
when r1, r2, r3 resistors of 50hms, 100hms and
150hms are connected in series with 12V of voltage
source?

faRIE® r &b 3R-UR WM dieesT a9l &, T rl, r2, 13
50hms, 100hms 3R 150hms & FfaRIE®! BI 12V dleest
Bid & T AT A 13T 577dT 82

A 12V

B 21V

c 10V

D2V

Ans : (D)

19. It is preferable to connect bulbs in series or in
parallel?

o] Bl YA A IT HMIGR A F1SAT J8cR 87

a) Series el

b) Parallel AMIR

c) Both series and parallel $3acT 3R THMATGR GHIT
d) Neither series nor parallel 7 df g3l 3R 7 €t
AR

Ans : (B)

20. Three lights are connected in parallel across a
120 volt source. If one light burns out,

120 dleT & Bild R diF eree AR A 2 g8 21 T
gt g1 Se al
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(A) The remaining two will glow dimmer ¥ gl Hg
THDBI

(B) The remaining two will glow brighter ¥ I 51
ELCal

(C) The remaining two will not light ¥ &Y U1l T&T
B

(D) The remaining two will glow with the same
brightness as before AY Gl Ugdl &1 dig & THEG &
1Y THEBI

Ans : (D)

21. Five 100 Q resistors are connected in parallel. If
one resistor is removed, the total resistance is__
i 100 Ufdderd FHMTGR A 33 §C 81 Ife b ApAaret
gal fear sirar e, af o ufde ___ 2.

(A) 25 Q

(B) 500 Q

(C) 100 Q

(D) 20 Q

Ans: (A)

22. When a 1.6 kQ resistor and a 120 Q) resistor are
connected in parallel, the total resistance is___

5T T 1.6 kQ UfaRIY 3{R T 1200 Ufae AR H
REAE Do v Bardl

(A) Greater than 1.6 kQ 1.6 kQ . 9 31feid

(B) Greater than 120 Q but less than 1.6 kQ [120 &
31feids i 1.6 kQ A BH

(C) Less than 120 Q but greater than 100 Q] 120 & &7
Wfda 100 . A 31fEid

(D) Less than 100 () 100 & &H

Ans : (C)

23. The resistance of any conductor depends on

A length of substance Ucref &t ciars

B cross-sectional area T JTHITT &7

C temperature & nature of material aTI|T 3R ATt
1 Tpid

D all are correct 99 &t &

Ans : (D)

a) a.c. bridge T, fgi=1

b) d.c. bridge g1t fsist

c) high voltage bridge 3 @it fsist

d) power dissipation bridge f&3Teil 319 fais1
Ans : (B)

25. Wheatstone bridge is used to measure

resistance in the range of _____ et fast &1
g ___ &t It A ufdder o AT & fee faar
Sare

a) 102 to a few megaohms 1Q @rga‘s megaohms

b) 10k() to a few megaohms 10kQ @rg?s megaohms
c) 100MQ to a few gegaohms 100MQ & $B
gegaohms

d) 100Q to a few teraohms 1000 & BB R
Ans: (A)

26. One coulomb of charge is equal to the charge
of___.

TH Bl 3TARN ___ & TR & SRIeR el 2
a.1.095 x 10 ™ electrons

b.1.625 x 10~*'electrons

C. 6.242 x 10™ electrons

d. 6.025 x 107 electrons

Ans: (C)

27. Resistance of a wire is directly proportional to
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A Length @aTs

B Diameter <1

C Area of cross section Pid 9d[ BT &FBA
D All of the above W & Wit

Ans : (A)

28. Electrical appliances are not connected in series
because. fag[d 3uduT $RaeT # 78l 73 € Rifd

A Series circuit is complicated $ja@T Afdbe Sifeet &
B Power loss is more faisTeit &t g1 31feid &

C Appliances have different current ratings 39®<0Ti
&6l Pie A e 8

D None of the above &R § BI8 Hi 781

Ans : (C)

29. When cells are arranged in parallel____. 5d 9at
P GAMIR § Fafed fdar siar e |

A The current capacity increases &3¢ &Hdl &6 SITdl
2

B The current capacity decreases &3¢ &fHdT ©e STd!
g

C The e.m.f decreases 3. EH.C% gedl &

D The em.f increases S.CH.E% d&dl &

Ans: (A)

30. In series circuit, total resistance Rt is calculated
with the formula ____.
YICTT URYel #, Pt Ufdie Rt &t IT0MHT gF
EIGIK]

A Rt =R1+ R2 + R3+...

BRt=R1-R2-R3

C Rt =1(R1+ R2 + R3)-1

D Both A and B

Q&

31. A certain circuit is composed of two parallel
resistors. The total resistance is 1,403 (). One of the

resistors is 2000 (). The other resistor value is ___

v fAfgja afdhe g gamiaR UfaRiel @ a1 8ar 81 ot
TfaRIe 1,403 €1 UfaREl & & Th 2000 &1 31 UfaRied
A ___¢€l

A 1,403 Q

B 4.7 kQ

C2kQ

D 3,403 ()

Ans : (B)

32.In series, if one bulb goes out, others will : $aelT
¥, Ifc v ded T STAT 2, dl 31

A stay on Qﬁ?@ﬁ

B also turn off &g M

C blow up 38 37

D heat up &¢ 31q M

Ans : (B)

33. When a Wheatstone bridge is in a balanced
condition, the center voltmeter in the bridge will
read: 579 Ueh et fsist Fidfeid fifd # gare, ot
fois1 & Jex areedteR uem:

A. twice the source voltage &I R Hid dicest

B. the same as the source voltage Hd dieest & JHMH
C. zero volts [ dlee

D. half the source voltage 3T Hlid dleest

Ans: (C)

34. What is the total resistance of a circuit when R1
(7 k Q) is in series with a parallel combination of R2
(20k 2),R3 (36 k2), and R4 (45k Q)?

Ans : (A) 5T R2 (20 k ), R3 (36 k Q) 3R R4 (45 k Q) &
TAMTGR TV & T R1 (7 k Q) $jaeT & 8, df afde
BT Gt UfaE o7 872
A. 4k
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35. The sum of voltage drops across the individual
resistances equals the applied voltage.

3TeTIT-ePT UfaRIe # dieesT 6t gl b1 IPT Ar] dicest
& SRR BT 2|

(A) Series circuit SRaaT Afdhe

(B) Parallel circuit 9MIaR Afbe

(C) Series-parallel circuits SRaaT-THMIR Afdbe

(D) All of the above 3R Tt

Ans: (A)

36. The applied voltage is the same across each
branch. @] dieesT U 2ARAT H HIA EdT 21

(A) Series circuit $jaeT Afdhe

(B) Parallel circuit @HMIR Afdse

(C) Series-parallel circuits $RAAT-THMICR Afdbe
(D) All of the above 3WRIh THt

Ans : (B)

37. In which process the transfer of the heat is from
one point to another due to the actual motion of

D. 108 k
Ans: (B)
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(a) Convection / Jd&d

(b) Conduction/dTeid

(c) Radiation/fafdsor

(d) Specific heat/ 3tcafelds ama / 7T
Ans: (A)

38. Low Resistances can be accurately measured
by____.faufade &t ____ gRT9d® S 797 517
qhdl &l

(a) Kelvin bridge / &fead fsist

(b) Wheatstone Bridge / @t foist

(c) Wien's Bridge / o fsist

(d) Schering Bridge /&BfT f§isT

Ans : (A)

39. Three resistance of 10 Ohms, 15 Ohms and 30
Ohms are connected in parallel. The total resistance
of the combination is____. 10 37iH, 15 31 3fR 30 31H
& i 9faRie AR 511S TR 81 59 HAI5H Bl ot
gfade____2

the molecules of a fluid. fo@ Ufhar & dgd, fddt a¥eT | (a) 5 Ohms
yerf & Hifeiarged & dRdfdd IR &5 BRUT 3¢S HWAT | (b) 10 Ohms
©a foig @ gadt foig aa miaRkd gidl 2. (c) 15 Ohms
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(d) 55 Ohms Ans : (b)
Ans : (A)
41. Low resistance is measured by__. 778 ufasie
40. To measure the resistance of about 852 which | ______ GRT HIYT S77dT €1
instrument should be used? TPTHT 852 & Ufae &t | (a) De sauty's bridge /3 9319 §ls1
HIY &34 & feie g I &1 3uaT fosar sm anfee? (b) Maxwell's bridge / Added siisT
(a) Kelvin's double bridge / &fea 3ae fas1 (c) Kelvin's bridge / &fea~a sfts1
(b) Wheatstone's bridge / &te&Iq fais (d) Wien bridge / ara sfis1
(c) Meggar/ATR Ans : ()
(d) Wattmeter / dlcHleR
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